Work required for the measurement and calculations of the viruses
#3.  length of T4 bacteriophage  model = ____________cm  (1)

                                                                  ____________ nm  (1)

       length of Influenza virus model = ___________cm  (1)

                                                             ___________ nm  (1)

#4.  Show your work on the next page.  See sample calculations

Assume the image of a virus is 6 cm long, Convert to meters.

6 cm  x  10-2 m  =  6 x 10-2 m

      1 cm

Divide the length above by the magnification (assume 100 000X for the sample calculation)  to determine the actual size of the virus.

6 x 10-2m = 6 x 10-7 m

100 000

Convert m to nm

6 x 10-7 m x  1 nm  = 600 nm (length of actual virus)

                      10-9 m

Length of model in nm

Length of actual virus in nm

